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GENERAL INSTRUCTIONS TO THE EXAMINEES :

L.
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Candidate must write first his / her Roll No. on the question
paper compulsorily.

Tt UYT ot A AHAE E |
All the questionis are compulsory.

Hedsh TR 1 ITX A1 TS STR-girent | & fod |

Write the answer to each question in the given answer-book

only.

ST ot & eiites @us €, 37 9 % SR U 9 @ o

For questions having more than one part, the answers to those
parts are to be written together in continuity.

TR O % feral o ofueh wumR o fRw R e / e/ fauenE
B WX el WS % R S e A

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.
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Vt\frite down the serial number of the question before attempting
it,
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Welghtage of ma_rks for the questmn is as follows

=T - A (A) 1,(i13x),2t011" N 20
e - 7 (B) . 12t019=8 2 16
GE-W(C) | 20t023=4 4 16
- @UE -T (D) '24to'25=2 5 10
EE-aAE | 26t028=3 6 18
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: There are mtemal ch01ces in Questmn Nos. 20 to 28

auug - A

- . Section - A .
 1. 0 14$raﬁm
_'(A) 144. ST @ 169
‘.(é.:) 196 o D) 25
The square of 14 will be
A) 144 L @ 1
© 196 I (D) 225

Wf(x)—ﬁx 2ffx ZT‘@'%WWWW@W

A g

| (B) 9
© 10 ® 1
) B _2,t
y P\lttmg x=2in polynomlal flx)=6x-2, the value of pc;lyn N

N 8 » - | o o Omia] will be

© 10 D) 11
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(i) A TG 22 + x+ kBT GEH 3 A ke WA gy
w12 gy g
© 20 - @) -21

If 3 is a zero of polynomial 2x2 + x+ k, thén value of kwﬂl be

~

@® 12 g

© 24 : o - (D) '_21‘

(iv) 2 sin2 60° cos 60° T A |

G o 1 '
Thévalu?a of 2 si1712 60° cos '60°vjﬁibe . |
w 3 | ® 2
© 3 o %

W) .W&QT’FW%W@ 1ootﬁaﬁ§ﬁﬁmﬁmmwmﬁo°% ai

TR 9 S - o
® 100‘/3#}3-{ | o .‘(B‘) %ﬁa
o : : 200
50./314'12; ) (D), —Eﬁa-

If from a point on the ground which is 100 m away from the foot of the tower,

the angle of elevation 6f the top of the tower is 60°, then the height of the tower

is
. '- ' - 100 _
(A) 100@ metre . (B) —J.37 metre‘
© 5043 metr D) 20 ety
e o 3 e
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4 © (o0, 1) D (1,0)
f,\r' The cooxjdinates of origin are -

W L e

N

40, 1) o (D) (1, 0)
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~ In the given figure, DE ||'BC, AD =2 cm,
. Measure of EC will be

B =. "‘ .
D Scma‘nd‘AE=4 .thv
. ' ' Cm) .48
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. A '5cm
; 4 : | (© 7 cm
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- Number of circles which pass through three collinear points is

(A) oné : , ' - - '(B). two
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7 (ix) ﬂﬁ@%ﬂﬁ”ﬁéuﬁﬁmmaﬁq@wéﬂm%smw%aw
(A) .101-37-1'? : : | - B L |

(©) iz@tﬂ'ﬁ o o o (D) 143

If the height ‘of é‘ c&lindef is :11 cm and its curved surfacé' érea is 968 'crﬁQ g
~ then the ra;iius of _cyl{nde; will be

() 10 em . o " (13).1 11 cm

(€. 12cem | . D) 14 cm

\

._ (Vx)' s 5,7,4,8,6WW% E
@ 4 T @ 5
»(C) 6 ' o : (D). 7
The xﬁ.ean of d_isuiioutiori '5, 7,4,8,6is
w 4 S B s
© 6 o D) 7 |
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q\srﬁf@aqwmm% 1 T [T BT |
Find the square of 96 by using “Sutra Nikhilam”.
13 wm“gﬁﬁf@m’.’@aﬁﬁﬁq C
Find the cube of 13 by usmé ‘.‘;Sutra N1kh11am” Lo
IR %?Uﬁ 3,7, 11, 15, .. F1 11 af 9% 79 Hife I

Fmd the 11th term of Anthmetlc Progressmn 3,7, 1 1, 15

@wﬁwwmw% lqﬁw,smé'ﬁéﬁﬁ@rmgﬁﬁmm

A die is thrown once. Find the probability that the number on the die wiyy
. . . ) be 50

less than 5.

‘WW@ﬁﬁszﬂﬁ@@ﬁ@Wwwwwé q;
| -
% SEIME 8 F) wifar F1d ST |

A card is drawn at random from a well shuffleq deck of 5
: , ' 2 Cards, py
) , . Find the
Probability of jtg being a king. ' v

A QY w1 e it |

Write the equation of ‘Stoppmg'Distanée’.‘
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12.

13.

14.

S-09-Maths ‘ [ Turn over

Rs. 11, then find fhe total fare for 15 kilometres.

ﬁﬁamaxmnm ﬁﬁ@%maﬁ&fmﬁﬁw )

Fe T 227 + 51 = 0 3 o e T o

uﬁ@mwhmmﬁmﬁa%?mwmmw%muﬁr%ﬁ%ﬁm
11%0 & &t 15MW%memaﬁﬁQI

If fare of a ca‘r-‘for first kilometre is Rs. .20 and after that for every kilometre is

ﬁ'@'aﬁ(_g, _1)3ﬁ'{,(~—‘1l, Hé;a%ﬁﬁ”f@ ....... e Bﬁ‘ﬁ I

The distance between the points (-2, - 1) and (- 1, 1) WLl e v
Wﬁwa,aﬁgﬁa;mwﬁ@w SRS -

The loc.usv of the centre of rolling q'ircle ina plane will be et e

o s ) T T ST & 1 5 0 O T 1 R e B

A coin is téssed twice..-The probability of getting at least one head will be ..... teeee s

g ug - d
Section - B

Find the square of 24 by using Nikhilam Base-Sub-base’ method.

%Hmwﬁm 3x2 -4J§x+4 ow%ﬁwmﬂﬁq -

Fmd the dlscrlmmant of quadratic equation $x -4f3x+4=0.

. . 2 ‘
Find the nature of roots of quadratic equation 2x“ +x-1 = Q,
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15. tan? 60° +3 cos? 30° I A T HIWT |
Find the value of tan? 60° +3 cos2 30°.

16. T WAl SHIA TR 1:5 HeX ol o Ft ST i TS 1 W € o St g e o
T HIAR I BT i oS 5 Hex § At HAR By HEs T4 B |

The shadow of a 1'5 m tall student standing on a plane ground ig found to be 1 m

long and at the same time shadow of a tower on ground is 5 m long, then find th
’ e
: |

height of the tower. ' . (

17. %ﬂ?@ﬁwapwm%a‘ﬁas@vﬁm% |aﬁAD=34@q°r,AB=3ow% L
Fd & F5 4 ABH! T 1 HIT |

|

|
y
y

AD is a diameter of any circle and AB is chord. If AD = 34 cm, AB = 3 i
. ' le then ﬁnd
the distance of AB from the centre of the circle. '

18, 67 Yt TS 1 U T@ETS T I 2 ;3§ it BRI Ty |
Draw a line segment-of length 6'7 cm and divide it into 2 : 3 internay |
y.
19, T i 7 4 e 5 @ T o o o sho ey e |
S Hiex 9X §f% Y@ % S AIrEE ST S W & B =
| | @ & oy M s |
FIfES ST &7 ST &TReT T I l(n=2314) j

A CCTV camera has been installed on the top of 4 t

~ ght
such that forward traffi Pole of 4 Metre heighh
ic can be seen from the Jjp, ok Ctre heif
| Sight of 5
Metra

of ¢ir cular path formed by unseen patch aro - Fing the areﬁ

und the Pole' ( h,

3:
& g-Math® )
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20. Fﬂaﬂﬁﬁq%ﬁﬁ(é, -2}, (=2, 71‘)?1‘211(‘5, 2)@'Wmﬁﬂ?f%¥ﬂ€r% l
R i o o @ Frol # ST <1 T R S & s e
FI TR 1 <t et e 8 ¥
Prove that the points (‘ 2, —2), (=2, 1)and (5, 2) are vertices of a right angled
triangle, |
OR
Prove that if two corresponding sides in two triangles are proporﬁonal and the
angles between them are also equal, the two triangles are sirﬁilar.
21. aﬁﬁlv‘geﬁ,ﬂs, k).BﬁIB(k,S)ﬁfa’-g'_P(o, 2)ﬁ§ﬁﬁwﬁ.ﬁr k T O
HifeT |
sroran
fes AoTe 1 <1 T B, SRR e 6 E |
If points A (3, k) and B ( k, 5 ) are equidistant from a point P (O, 2), then find the
value of k.
OR
Prove that two equiangular triangles are similar.
$-09-Maths, . , [ Turn over
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22, @gﬁﬁﬂﬂ%ﬁ'{ﬁﬁﬁ@%*ﬁ&% lmwmﬂsﬁw'znﬁaﬁawﬁw‘
g:m% mrt‘rmraﬁmamaﬁﬁ-ml

| 'mﬁfw%ﬁaﬁaqﬁﬁa@ﬁﬁiﬁmaﬁaﬁé%ﬁWﬁ a?mﬁfa'-g'
‘ | v'wﬁ\mwwﬁwwm%« '

The radius of a cxrcular grassland is 35 m. There is a footpath of width 7 m around
oun

outs1de of it. Find the area of the footpath

OR

y Prove that; in two concentric circles if the chord of larger circle iouche# th
e smaller

; one then the point of contact bisects the chord,

23. ﬁwsﬁm@%%mﬁa@ﬁmmmaﬁwmm-

o | | T BT |
<t s F, 7% 04 0B= oc. op¥, ﬁﬁﬁ'ﬁﬁQAA=éca /5
. . . ¢ =4D
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Section - D
 .24.'*@29ﬁﬁméﬁ@gﬂmwmﬁoﬁmﬁgﬁmﬁpﬁﬁ
| ﬁawm@ﬁqaﬁa‘%wﬁm% aﬁaﬁaﬁﬁml
Hqar
e
| | R A=
| —1tf3
o qﬁ'amg}'yrq;ﬂ B |.3"
| c '%n(rl3—r23)(rl>r2)
3 | Sef ol SEd ‘
imﬁmm D |2ar
5 et T A E nrlh
 6 | Wmm@wm ', F | 2rrh
. . ; | | 2nr2-
| et a7 S . H | 3nr?
8 .
m Co i {4nr?
o WWWW . |1 "
.10 Tﬂ'ﬁﬁqmwmv - " S

Coné&uct a circié with the centre O and radius 29 cm. Take a point Pat a distance

of 44 cm from the centre and draw a pair of tangents to the circle from it. Also,

measure the tangents and verify that they are equal.

OR
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Match the following :

v y 1 'Circu;nfefenég of the circle | . A | nr?
f 3 . |2 Areaofcircle‘ | ' ’ : B %""3
3 .V()Iume of cylinder C-: % 7‘("13 2 ) >r,)
‘\‘ f 4 | Curved surface area of cylinder . D | 2nr : o
g",f- S. | Volume of sphere - E | nr? h\
J 6 Curved.surfacg area of hemisphei'e F \ 2nrh x\“ '
1 | | 7_| Surface area of sphere | G |2 r\\ :
; 8 | Volume of hemisphere H | 3 n_rT\\
)‘ 9 | Total surface area of solid hemisphere I TWT\\
f | 10 'Vohfme of spherical shell ' - J‘J 32- nr3
j e o e
| !f  2x+3y=8 \
: } - x-2y= -3
: - " e
j *ﬁmmwﬁwwqmﬁarré@wﬁﬁrmmﬁﬁq
; | 2x+y = 6
; | 4x-2y= 4 -

Solve the followmg pair of linear equatlons by graphica] method
; : 2x+3y=8

P x-2y= -3 ‘

| o | : OR

| / Solve the folloﬁng palr of linear equations by graphica] me-thod :
| Zty=6 |
4x~2y = 4

S-09-Maths : EXTXEg
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. Section - E .
26. IfE TR é@rwaﬁqaw 17éﬁ¢<m¥ 10 @7 41 &, @ 40 & 9§ T ST |
)

2 45 —tan2 30°)$rm=f3naa%%m |

2 ( cos? 45° + tan260°) -6 ( sin”
Jgar
oy ST Sl B A 4 R | _ |
' 0 50_60 - 60-70 70-80 | 80-90 | 90-100
Fard): 40-5 A " | .
- ik - 95 o8 |. 12 10 15

- sion 19 and 41 respectively, then
. : prOgreSSIOn are. » s
nthmetl_c ‘ .

| P
If 6th and 17th terms of an

find the 40th term-

70-80 | 80-90 | 90-100

A .

Weight (inkg):

_No. of students : ﬁﬁqﬁm;4aﬁ?(—8)%.?‘ﬁmﬁ?jwq?{¥ﬁ
A - |
ﬁiﬁméﬁﬁ* |
BT 9 o
.. 29
_ 1280
49»8 40
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e IIRe S 1 s e s

. WEiw: | o- 10- |
] S - - 0-10 10-20 20-30 30-40 | 40-50
: BT W WA 4 /28 42 20 6
. . —4
| If 3rd and 9th terms of an Arithmetic Progression are 4 and (‘ -8) respe'ctiv I th
. . . ¢ ’
:i _ which term of it will be zero ? ' * e
OR
Prove that cos4@ - éin4‘6 =1-2 sin26.-
o -
} _ Find the median of the following frequency distﬁbution :
Marks obtained: | 0-10 | 10.20
; No. of students : 4 28
‘., R o ' o N | |
; 28, Fﬁwmmﬁﬁ%w&mmﬂ(;g)w N
of . : i ) m 8 33[ a} i 7
; HifT | |
| o |
| o 1 =2 ec? |
;1 aﬁﬁq%1+sme+l—-sin9 =2sec*9 |
ﬁwmmmwﬁwﬁﬁl@mmﬁﬁg}

e e e e T —

POE T
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Three numbers arg in Arithmetic Progression. If their sum is (- 3) and product is 8,
ee num ‘ ' v

then find the numbers.

OR

| | o
N 1 _2sec®o
Prove that 17 " 1-sin® -

P

OR.

qﬁency distribution by step deviation methqd .

Ry

an of the following fre

Find the me
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